Autumn Test 6
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Autumn Test 6 (continued)

17 | 7-155= 18| 13+2x10=

19 20 3

(2 marks) (2 marks)
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21 %ofS: 22| 95% of 200 =

O O
23 ;—X;—= 24 | 634,743 — 85,278 =

O O
25 =824+ 10 26| 14—29=

O O
27| 292+ 8= 28| 15% X 240 =
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29| 15 +13 = 30| & 4=
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Autumn Test 6 (continued)

31 11896 32
X 8|3 413|11/6|3|4
(2 marks) (2 marks)
\
Total marks /36
J
How well did you do? i 348|182
Colour the numbers of the - 14 [ 16 | 17 [ 20 [ 22 | 24
questions you got correct. X 2 (56 7 |12 1817182 | 21|29
+ 1 9 10|19 |23 ]|25] 28| 30
Fractions 4 |13 (15 21 | 27 | 28
Decimals 9 [ 1223 |25
Missing no. 14
BIDMAS 18
Percentages | 26
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